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There is a strong negative linear association between the pressure and volume of these
three gasses. There are no apparent outliers. The residual plot indicates a curved model
‘might be better than the linear model. About 82% of the variation in the volume of the
gasses is explained by a linear relationship with pressure. On average for every increase
of one atmosphere (at a constant temperature) the volume decreases by 1.65 liters.

2.3 liters and it belongs to oxygen at 2 atmospheres of pressure.

. 9.40 liters, 6.10 liters, and 2.82 liters

‘The model would not work well. There is a curved pattern in the residual plot. In fact,
by the ideal gas law, pressure and volume have an inverse relationship. After 8.19
atmospheres of pressure the linear model will start predicting negative volumes.
Students may know at some point the gasses will condense into liquids and have much
different physical characteristics.
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817. 122=90: 57 pounds
8-18. These polygons are congruent by a rotation and translation. z = 15 units and y = 3 units

8-19. See below:

=_10
ax=-33

b. all real numbers
c.c=0

8:20. 45,46,47; x+(x+ 1)+ (x+2)=138
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8-7. See below:
a. 1.25
b.0.82
c. 1.39
d. 0.06

8-8. See below:

a.6, 18,54
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b. See graph shown below. domain: positive integers
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c. See graph shown below.
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d. They have the same shape, but (b) is discrete and (c) is continuous and they have different
domains.

8-9. See below:

b.b=ac

dpr=2
a

8-10. See below:

a.Itis a square. Students should demonstrate that each side is the same length and that two
adjacent sides are perpendicular (slopes are opposite reciprocals).
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b. C’is at (-5, -8) and D" is at (-7, 4).

c.P=4420 =8+/5 ~ 17.889 units, A = 20 sq. units
8-11. See below:

a. ASQR; HL =

b. AGFE; ASA =

c. ADEF; SSS =
812. m=13,b=17

8-13. If represents time traveled (in hours) and r represents the rate of the freight train, 49.5 = r and
61.5 = (r+ 16)(); £="0.75 hours, so, the time is 4:10 p.m.

8-14. See graphs below.
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8-15. See graph below. The graph is a curve with a y-intercept at (0, 1). There are no x-intercepts.
‘The function is continuous and increasing. The domain is all real numbers. The range is y > 0.
There is an asymptote at y = 0.

8-16. See below:




